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P.I. STA= 9001+46.37 P.I. STA= 9005+64.11 P.I. STA= 9013+94,.96  P.I. STA= 9017+58.36  P.I STA= 3448+16.06  P.L. STA= 144441727 P.I. STA= 1455+16.63 P.. STA:= 2438+80.23  P.l. STA:= 2452438.92  P.I. STA= 4433+74,36  P.L STA= 4443+61.67 90/9] 2004-073RS ook Iz
N= 1,865,209.16 N= 1,864,791.41 N= 1,863,962.56 N= 1,863,599.16 N= 1,865,764.28 N= 1,865,361.46 N= 1,866,460.40 N= 1,864,809.56 N= 1,866,168.26 N= 1,864,307.20 N= 1,865,294.49 STA, T0 STA,
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R= 3600.00 R= 5500.00" = 5500.00' R= 3600.00° R= 6800.00' R= 12510,00" R= 12490.00’ R= 15500.00' R= 15000.00° R= 14000.00° R= 14000.00°
T= 146,37 T= 22877 = 93.88 T= 114,53 T= 192.90" 1= 391.66' = 387.09' = 179.59° = 208,03 T= 286,43 T= 293.90°
L= 292,57 L= 45727 = 187,72 L= 228.99' L= 385.69' L= 783.06' = 773.94° = 35917 = 416.02° L= 572,79 L= 587.72" b NS .-
E= 297 E= 4.76' = 0.80° E: 1.82' £= 2.74' E= 6.3 = 6,00° = 1,04' = 1,44° E= 2.93' E= 3.08°
ez N/A e= N/A ez N/A e= N/A e= 2.5% ez NC e= NC e= NC e= NC e= NC e= NC
T.R.= N/A T.R.= N/A T.R.= N/A T.R.= N/A T.R.= 41° (41 TRz N/A TRz N/A TRz N/A T.R.z N/A T.R.= N/A T.R.= N/A
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N= 1,865,354.66 N= 1,865,020.09 N= 1,864,056.35 N= 1,863,713.69 N= 1,865,571,45 N= 1,864,969.95 N= 1,866,073.55 N= 1,864,630,02 = 1,865,360.24 N= 1,864,020.87 N= 1,865,000.61 Ql..OC AL LANES
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DETAIL A N= 1,865,659.41 B S. WENTWORTH AVE

= 1° 197 320 -90/94
CURVE NBAUXI CURVE NBAUX2 CURVE NBAUX3 CURVE NBAUX4 CURVE NBAUXS5 CURVE BL.WELL-] CURVE BL.WELL-2 CURVE BL_WELL-3 CURVE SBSLIPAO] CURVE SBSLIPAO2 3: (l)o 1296' 3120., % EX?EE;SQ?_A?\JES
P.l. STA= 9504+85.87 P.I. STA= 9507+37.23 P.I. STA= 9510+47.04 P.1. STA= 9514+90.68 P.I. STA= 9520+14.5] P, STA= 521+27.16 P.I. STA:= 528+60.56 P.l. STA= 536+78.45 P.I. STA= 303+11,81 P.1. STA= 305+66.61 R= 13137.24' cP 157
N= 1,863,921.64 N= 1,864,172.66 N= 1,864,481,34 N= 1,864,923.14 N= 1,865,447.69 N= 1,864,522.25 N= 1,865,255.64 N= 1,866,073.22 N= 1,865,160.56 N= 1,865,415.38 T= 151.98" CURVE NBDROG -
E= 1,175,976.69 E= 1,175,962.85 E= 1,175,939.03 E= 1,175,977.06 E= 1,175,962.35 E= 1,175,556.14 E= 1,175,560.3] E= 1,175,537.02 E= 1,175,660.40 E= 1,175,659.75 L= 303.94"
& 3° 120 547 &= 2° 26 29" &= 0° 31" 39¢ A 7°14° 547 &= 5° 06 31" o5 1° 54° 54" A 1° 570 297 A 10° 22° 177 A= 15 25 147 A O° 49 39 E= 0.88¢
D= 1° 35* 30" D= 1° 02’ 30" D= 0° 24' 38" D= 1° 02 30" D= 1° 54° 35" D= 4° 55’ 05" D= 1° 00" 09" D= 4° 02" 16" - 0° 26' 117 D= 0° 26’ 54v e= N/A
R= 3600.00 R= 5500.00" R= 13952.00° R= 5500.00° R= 3000.00’ R= 1165.00 R= 5715.00° R= 1419.00° R= 13128.07' R:= 12779.64° T.R.= N/A
T= 10103’ T= 117.20° T= 64.23° T= 348,36’ T= 133.83 T= 19,47’ T= 97.67° T= 128.78" T= 162.74° T= 92,08 S.E. RUN= N/A
L= 202.00’ L= 234.36° L= 128.46° L= 635.79" L= 267.48° L= 38.94° L= 195,31 L= 256.86° L= 325.47' L= 184.15' P.C.C. STA= 306+58.69
E= 142" E= 1.25' E= 0.15 E= 11.02° E= 2.98° E= 0.6’ E= 0,83 E= 5.83 E= 1,01 E= 0,33 N= 1,865,507.45
e= N/A e= N/A e= N/A e= N/A e= 2.4 e= N/A e= N/A e= N/A e= N/A e= N/A E= 1,175,660.85
T.R.= N/A T.R.= N/A T.R.= N/A T.R.= N/A T.R.= 11" (07 T.R.= N/A T.R.= N/A T.R.= N/A T.R.= N/A T.R.= N/A P.T. STA= 309+62.63
S.E. RUN= N/A S.E. RUN= N/A S.E. RUN= N/A S.E. RUN= N/A S.E. RUN= 66" (0" S.E. RUN= N/A S.E. RUN= N/A S.E. RUN= N/A S.E. RUN= N/A S.E. RUN= N/A Nz 1,865,811.30
P.C. STA= 9503+84.85  P.C. STA= 9506+20.03  P.C. STAz 9509+82.81  P.C. STA= 9511442.32  P.C. STA= 9518+80.68  P.C. STA= 521+07.69 P.C. STA= 527+62.89 P.C. STA= 535+49.67 P.C. STA= 301+49,07 P.C.C. STA= 304+74.54 E= 1.175,667.96
N= 1,863,821.23 N= 1,864,055.64 N= 1,864,417.11 N= 1,864,576.47 N= 1,865,313.91 N= 1,864,502.79 N= 1,865,157.98 N= 1,865,344,49 N= 1,864,997.88 N= 1,865,323.30
E= 1,175,987.89 Es 1,175,969.30 E= 1.175,938.90 E= 1,175,342.80 E= 1,175,966.10 E= 1,175,556.68 E= 1175.659.75 E= 1.175.540.68 £ 1175,664.85 E= 1175.659.99 N SIONS ILLINOIS DEPARTMENT OF TRANSPORTATION
P.T. STA= 9505+86.85  P.T. STA= 9508+54.39  P.T. STA= 9511411.27 P.T. STA=9518+38.12 P.T. STA= 9521+48.16  P.T, STA= 521+46,63 P.T. STA= 529+58.21 P.T. STA= 538+06.53 P.C.C. STA= 30447454  P.C.C. STA= 306+58.69 F.A.L. 90/94 (DAN RYAN EXPRESSWAY) =
N= 1,864,022.51 N= 1,864,289.30 N= 1,864,545.57 N= 1,865,271.36 N= 1,865,581.27 N= 1,864,541,72 N= 1,865,353.27 N= 1,866,200.51 N= 1,865,323.30 N= 1,865,507.45 51st ST (WENTWORTH AVE AND WELLS ST) ~
E= 1,175,971.13 E= 1,175,951.42 E= 1,175,939.75 E= 1,175,967.30 E= 1,175,970.53 E= 1,175,556.25 E= 1,175,557.53 E= 1,175,556.58 E= 1,175,659.99 E= 1,175,660.85 N
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